C) Nasobeni mnohoclent
C1) Nasobeni jednoclenti

Vynasobte jednocleny

(=2x%y) . (= 5x)
—2x3y3 . xy
0,2x.1,5xy
7x3. (—x°)

C2) Nasobeni mnohoclenu jednoclenem

Vypocitejte a vysledek upravte

(6+x).5
4+ x). (—x)
4x.(5—x)
-3.(2—x)

Vypocitejte a vysledek upravte

(x—4y+6).x

5. (4yx —2xy +2)
—6x.(10x% — 2x% + 12x)
2y.(2y2+1) - By +2). y?

C3) Nasobeni mnohoclenu mnohoclenem

Vypocitejte a vysledek upravte

(x+2).(x—-5)
(y—6).(-y—6))
2x+3y—-1).(x+6)
(xy+5).3x+4y+2)

Vypocitejte a vysledek upravte

5x. (x+4). (x+6)

2x+4). x. (6x—2)
2x-3)(x+2)—(x+2)(3x—9)
(4x—-3). [(x—3) —x(2 — x)]



